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0 rours of labor and 50 tons of cement to produce 500
er hour and cement Costs 4§12 per ton. For the guantities
t

0
blooks. Labor costs $4 D
b*s situation in an isoguantisocost diagram,

erployed, MPp = 3 and MPp = 2. Show
Txplain, and show in the diagram, how the firm can produce the same output at a

lower total cost. (10%)

nThe difference betwesn price and marginal cost is the amount of profit per unit

of output, which the fixm wishas to be as large as possible." Why 1is this
statement false? What does the difference, 1if any, between price and marginal
¢cogt measure? (5%)

4, "In a constant-cost industry each firm has an upward-sloping marginal cost curve,
vet all the firms together-the industry-have a horizontal supply curve." Explain
why there is no contradiction in this statement. (5%)

Suppose the government grants an excise subsidy to the firms in a competitive

market by, for example, giving them $5 per unit of output. How will this subsidy
affect price and output? Will the price to consumers fall by more if the

industry is one of increasing costs or if it is one of constant costs? (10%)

&. Show how the most profitable cutput and price are determined for a monopoly that

can produce 1ts product at zerc cost (MC = AC = 0}. Explain the welfare cost
that exists 1n this case. {10%)

7. If the supply of labor incresazses and depresses wages in an industry, this
outcome will benefit firms at the expense of workers." True or false? Explain.

2. If the demand for automobiles risss sharply, how will the price of refrigerators
be affected? {(Stesl 1s an 1mportant input in the production ¢ both products.)
5

g. "For a given investment demand curve, the nors inelastic the saving supply curve
thz mors private investmen: will fall as a result of government borrowing." Use
graphs to demenstrate this ztactement. {(10%)
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According to Albert Einstein: *The economic anarchy of capitalist soclety as it
exists today is in my view the main cause of our evils. Production is carried
on for profit, not for use." Is there a conflict between "production for
profit® and "preoduction for use"? (5%}

"When public goods or externalities lead to ineff
{

clent resourcs allocation,
overnment intervention is justified." Is it? Whv? )
_{'

i
5%

Seat belts were available as options before they were reqguired by law in
automobiles. Most motorists, however, did notc purchase themnm. Assuming that
motorlsts were aware that seat belts reduced injuries from accidénts,
motcrists irrational in net purchasing them? (5% )

were

1f a perscn's income rises by 10 percent and, simultaneocusly, the price of
gasoline increases by 10 percent, can we predict how the consumption of

~gascline will be affected? Can we predicet how, on average, coasumption of

other goods will be affected? Use the concepts of dncome and substitution
effects to answer this gquestion. (10%)
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